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¢))

kg = H1 4.000
75107 & () H2 1.000
Al 7-f/ 7 & () H3 0.800
W7 E () H4 1.000
BE = ‘) Bl 0.300
BE & ( ) B2 1.300
T T A i SR B3 2.000
7=F/0 il R B5 1.200

@

Kh

©)
a/)) - O HEN EHE ye= 24
Y oA EE ys= 18.0
g b D PN EE R A o= 30.0
T Eh R AR A tan ¢ = 0.60
PR R () qa= 168.12
il OGS ) C= 20.0
pe WEF(LEET) § = 20.000
foOEEE(fEa)-h) 5= 20.000
% R (1 & 1) 6= 15.000
fy HUERF (2 Lav))-1) 6 = 15.000

©)
X(m) Y(m) (kN/m?)
10.000 0.000 10.000

8B BB BBEBEBEBE

k N/m?
k N/m*
E

ot

k N/m?
k N/m?

H1
B5
L
H2 T
H3

]m

H1

P
H2

e Tk

9 10 11 12

13 14 15



®

KA B4 ERE T B4
1o E A ps kN pv= N/m
fEfm S yp= m xp = m
T b,= m
U] [l U]
6 Xp Pv
X ETEL YRR Oy = 21 N/mm®
B R T A e 7 O™ 7 N/mm’
PR AT ) Tea 0.7 N/mm’
ERACIE SNYA):S Osq= 180 N/mm>
PR IS E T, = 2.1 N/mm®
e ) - VERBIRIG I E  tca= 0.26 N/mm>
7
BRAREEL SRR vy F | LS ESN A JE &
D (mm) D (mm) @ (mm) t(mm) A s (mm?) U(mm)
7= CRE (JEHR) R
(H %) 2. 00 m ELigi
AT 7 —F > 7 i35
EhT—F s TR
8
a) AR LA R K O S EREEIC K > TR 5,
No X Y Xn+1 -Xn-1  fFmfE
1 0.000 0.000 -2.500 0.000
2 0.000 0.800 1.200 0.960
3 1.200 1.000 1.200 1.200
4 1.200 1.000 2.000 2.000
5 3.200 5.000 2.300 11.500
6 3.500 5.000 -0.700 -3.500
7 2.500 1.000 -1.000 -1.000
8 2.500 1.000 0.000 0.000
9 2.500 1.000 0.000 0.000 .
10 2.500 0.000 -2.500 0.000 ! < I
{5 T FH 11.160
WERE O 17 i F A= 11160 2 = 5.580 m2 ‘
WREDEE w=A -y = 5580  x24.00= 133.920 kN A4

[ (Ai - (AXi-23+Xi)

XA

XA

> [ (Ai-AYi -1/3+Yi)}>



@

a) fa SRIEfTE | VA EREE -pvh
(kN) (m) (kN-m)
N 133.920 1.953 261.546
& F 133.920 261.546
b)
TEOFHFITRIT SWEIC L 2 HEEHWS,
o= 20.000 (J%) B = 0.000 (%)
J= -14.036 (F¥)
a= 53 ()
TR\ Eo+E W= 133.550 kN
BRIES Pa= WXsin(a=¢) —=54.577 kN
cos(a—¢—-0-j)
T LIEMRE KA=2xPa/(ys -h°) = 0.243
KL E4RE KH=Kaxcos(d + j ) = 0.242
BN AR SR KV=Kaxsin(d + j ) = 0.025
7
6
Bl
. ™7 B
/
//
4 H1 /
/
3 //
/
B5 B2
2 ‘ »> //
/
1 L — 4
H2 H3 Y H4
0 T /j




4+ (KN) (m) =4/ (kN-m)
PH=1/2xh"2 xys xKH 54.450 1.667 |\My=PHxY 90.768
PV=1/2xh"2xps XKV 5.625 2.667 |Mx=PVxX 15.002
OwH=0Qwxh*xKH 12.100 2.500 My=QwHxY 30.250
OwV=0wxhxKV 1.250 2917 |Mx=QwV xX 3.646
h : 5.000 m
PH
PV :
QwH :
Qwv
z 140.795 kN
z 66.550 kN
M 159.176 kN
(M: )
)
2. 159.1
e = BD — MIN _ 500 - 59.176
2 140.795
B:
e B/6 = 0.417 m OK
@)
LA ORESE A tang= 0.6 u=tan¢B= 0.6
. + . .
Fs — N-u+C-B _ 140.795 x 0.60 + 50.000 _ 2 021
ZH 66.550
(4)
H1
d=B/2 —e= 1.131 m
VEHINE
x= B = 2.500 m
o |

ql,g2=2V/B (I+6e/B)
g, = 72.402 kN/m?
q,= 40.234 KN/m>

qa

0.119 m

+ OK

168.12 kN/m2 X D /h S\ - OK



R A A

RANTE S Dfl= 0.600 m
BT (RFE yl= 18.00 kN/m’ o
WS <
AN S Df2= 0.200 m
ERNVREN =5 s y2= 18.00 kN/m’
R HvEE O FEER TR A
e KM s 7 700.0 kN/m’ r
AT o= 30.0 i |
i) c= 20.0 kN/m’ 4
Df1 '
MILEEHE L B 2.500 m et = L
EE L= 1.000 m X ‘
W7 R RE $iE ) V= 140.80 kN B
K77 HB= 66.55 kN
Rl e= 0.119 m
| SSEEY))

Qa=1/a*4e-(a K- C*Nc - Sc+K-q-Ngq - Sq+1/2 *y,*f+Be-Nr-Sr)
= 1/3x2.262%(1x1.027%20x7.85%0.794 +1.027%x14.4x5.53%x0.886

+ 1/2 x18x1%2.262x1.45%0.762)
168 kN/m’

(Y
(v
o

a: R a=3
C : Hfig D K545 7JkN/m2
q: b#HE (KN/m2)

g =yl + Dfl +72 - Df2 = 14.400 (KN/m2)
Ae : B ZNEA RS (m2)
de = Be L = 2262 (m2)
Be : 0% 5 8 L 7= L6 OB 2h AT i (m)
Be =B-2 + eB = 2262 (m)
op : FEREDOTERIR KL
o= 1.00
p= 1.00

K : R ANZhFAT KR D B LER%EL
K=1+0.3%*Df/Be = 1.027
Nc,Ng,Nr : fif B O L& B 8 L 7= 3R 4R %

tan@ = HB/ V= 0.473
Nc = 7.85
Ng =553
Nr= 145
~HEZ R O IEFR L
A=v=u=13L73,
Sc= (C)" = 0.794 C'=C- C0=C.~10=  2.000
Sqg= (q)" = 0.886 q'=q q0=q. 7 10= 1440

Sy= (B) = 0.762 B'=Be B)=Be 1= 2.262
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@
a)
0= 20.000 ( )
j=  -14.0362 ( )
a= 50( )
W= 84.830 kN
Q- 0.000 kN
+ X s1 -
pa = —WHQ) XsinCad) 9497 yy
s(a-¢-06- 0.583
KA=2XPa/(ys-h”) = 0.208
KH=KaXcos(Jd + j) = 0.207
KV=KaXsin(Jd + j) = 0.022
7 —
67 B1
5 | I
7/
7/
4 r /
H1 /
//
30 ,
7/
B5 B2 /
2 r L /
/
0 !
_1 |-
-2
-4 -3 -2 -1 0 1 2 3 4 5 6 7 8
b
P= 0.000 kN
ER & yp= 4000 m (7=TEEEES DE X)
i EELIE b,= 0000 m
1m>4 Y /K Ffhf 8 P,= 0.000  kN/m
C
(FED)
fFeE—22 b g H1 KH H1/2 1/2 y s H1'2 KH H1/3 u 56.304  kNm/m
AW g HI KH 1/2y s HI"2 KH Pu 38.088  kN/m
(FFFETER) 2. 00 m a a s/ 1 14954 kN
fFeE—22 b g HI KH H1/2 1/2 y s H1'?2 KH H1/3  u (H+Hp) 9.108  kNm/m

AW gHI KH 1/2y s H1”2 KH Pu 11.592  kN/m



(C )

HIME S B2= 1300
H5hE b= 1000

mm
mm

HAW LT E—A 2 FAMERT 2 BRI & L CRET 5.

T
h
. p? 1000 X 1300 z
Wrmtedk 7= b 6]7 = 1000 X 1500 = 281.667 x10° m’
a7 Y — FEIERN T
ot _ = 0.2 N/rnm2 < ota= 0.26 N/mn]2
a7 U— koW AWL T E
o=—2 = 0.029  N/mm? < tea= 070  N/mm?
b - d
(H[##B) 2. 00 m
AR S 800 mm
EERIL T b= 1000  mm
.n? 1000 X800 2
WrEftele 7= b 6[7 - — 106. 667 x10° m®
a7 U— MRS E
ot _ = 0.1 N/n’lm2 <  ota= 0.26 N/mm2
a7 U— k" AWS T E
=2 = 0.014  N/mm’® < rca= 070 N/mm?

b - d

OK

OK

OK

OK
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@
H1 ® Sk v e=H220N &
i ¢=0.500m
(
T d Vi
TR — —
H2 H3 T — | \ H4
0 |
| vi
a, // d2
— d4 a3
B
q3=ql + % Im
2-qgl
qg4d=ql + % /s
BHERD~TIE
H3= 0.80 m H2= 1.00 m
B= 2.50 m HS= 0.92 m
l,=B5= 1.20 m l,= 0.70 m
HE
WI=H3yc = 19.20 kN/m2
W2=H2yc=  24.00 kN/m2
W, Wl
W, =W, + % = 22.000 kN/m2
M T
q,\= 72.40 kN/m’ q,= 40.23 kN/m?
q5= 56.96  kN/m’ 94~ 63.39  kN/m’
AW
S =Is/2 (ql +q4 —WI—W3) = 33.11  kN/m
fifeE—2 > b

Im°/6 2 q1 Wl q3 W2 3345 kN - m/m



HHME B2= 1300 mm
HZIE b= 1000 mm

HAM LT E— A 2 FMERT SRR R & L CRET 5.

b
h
. 2
N beh® 1000 X1300
6 6
2 RIS
ot —_— = 0.12  N/mm’
DL Y RO ARG S
© = % - 0025  N/mm’

10

281.667 x10° m°

< ota= 0.26

< tca= 0.70

N/mm?

N/mm?

OK

OK



(

1) ZEFERSR
MRAIEH FHEAE TP HE
fix H 0.119 0.417 OK
CFET) 72.40 168.1 OK
GO 2.02 1.50 OK
2) IR AR
PRI BFpay ) - | B ) -N | BRERIGD |BAME ST fHED
N/mm2 7.00 0.26 180.00 0.70 2.10
7= CHE (JLET) 0.20 0.03
I 7755 OK OK
(FPREE) 2. 00 m 0.09 0.01
I 7755 OK OK
A 7 —F > 7 0.12 0.03
I 7755 OK OK
w7 —F 7
B1
I
H1
B5 B2

11

Hot— +—
H3




